EPR 8283

TRERE 7T 1A 43

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMRENERKEL. EPR ENTERTANEERNSERMEIT,
AUERANEECERNA R AHtNEEN  HHBNKBRELET
Trafag ST HYIESTERRIE BB RA,

RAIE

NEFRE A EE

NEEE 0..25%0...600 bar
0..30Z0...7500 psi

BHES 4..20mA

NLH @ 25°C (BSL) #28(& +0.2% FS HE(E

FERR

RREEN

TREERI A

REIEER S
TRFFERONGEERERS, FHINEH
fitE3&E: 710 VDC, A& EN 50155 (5%2)

15 @ +25°C BaAY(H +0.5%FS HAE
+0.3%FS HAE
NEEE -40°C ... +125°C
KIFRE -40°C ... +125°C
/a1 EN 50155 ($ )

EN 45545-2 (BK)

Trafag sensors & controls Industriestrasse 11
Switzerland 8608 Bubikon

+4144 9223232
www.trafag.com

sensors@controls

01/2024

HiER HT23191

EEE SR



EhiEn

BN

WiLES

H723191

EE BE 1RIBED
[bar] [bar] [bar]
0..25 15 50
0..4 12 60
0..6 18 100
0..10 30 200
0..16 48 200
0..25 75 300
0...40 120 300
0..60 180 400
0...100 300 500
0...160 480 750
0..250 750 1000
0...400 1000 2000
0...600 1500 2500

HENSEST, KEEELRR 0.5 %; MK} E#0 / b5
X EN, FEERS:0.5 %; #1# EA#O [ 9%
HEXESD, KRS 0.3 %; #1# EHEEO [ 4h%
X EN, FERH 0.3 %; #8 EAED /5%

G1/4" AL
G1/4" §MELY, Er3: DIN 3869

G1/4" SMELy, B 525 FE/E @ 0.5 mm, Z: DIN 3869

G1/4" §MELD (FEFI3R) EN 8372
G1/2" MBS (FEFIFR) EN 837213
1/4" NPT §MBL

1/4"- 18 NPT #2452

$EEHESK EN 175301-803-A (DIN 43650-A), #H
EEHESL M12x1, 5 £, PBT #441
HEEHESK MIL-C 26482, 6 $ 1

F4IPUR (4240 4iHk PA 6-3),-20°C ... +70°C 9 1
E4IPVC (B4 4iHEsk PA6-3),-5°C ... +60°C 6 7 99

BE
[psi]
75 0..30
76 0..50
77 0..100
78 0..150
79 0..200
80  0..250
81 0..300
82 0..400
83 0..500
85  0..1000
74 0..1500
84 0..2000
8  0..3000
0...5000
0...7500
: 14542 (AISI630)

: 1.4404 (AISI316L) 2 3 2

: 1.4542 (AIS1630)

: 1.4404 (AISI316L) 2 3 12)

PA

10
17
15
53
11
30
13

F34iRaychem (SB4 45K PA 6-3),-20°C ... +100°C 8 1 8)9)

RES k=

4..20mA (U ££83.9V) / 20 mA

I (fH8)

TiHg 2/6

[psi]
90
150
300
450
600
750
900
1200
1500
3000
4500
6000
9000
12500
18750

1/2" NPT §hg% 2
R1/4" §M24y, DIN3858 2

M14x1.5 JMELYL, DIN6149-22
7/16"-20UNF SME4Z, DIN 3866 2 ¢
7/16"-20UNF-2A SMELY, SAE J1926-3 (123Y) 2 14
7/16"-20UNF-2A SMB4Y, SAE J1926-2 (E&) 19
7/16"-20UNF RE24Y, SAE J512 #ifli )& Hfis 4

1RIRED
[psi]
700
850
1450
2500
2500
2500
4000
4000
4000
5000
7000
10000
14500
21750
29000

U (f#te8)
9...32VDC

G5
G6
G7
G8
GA
G9
HA
HO
H1
H2
H3
H5
G4
H4
H6

EPR 8283

8283. XX XX XX XX XX XX

25
35
23
33

05
35
02
24
22
08

19

sensors <0 controls



EPR 8283

8283. XX XX XX XX XX XX

Roft FEFLIESE M12x1, 5 §F 33
4t FPM, -18°C ... +125°C 61
%t EPDM, -40°C ... +125°C 63
5 NBR, -25°C ... +100°C 83
EAEERERTH ¢ 1.0 mm, #4$11.4305 9 40
FEAEEFEE Tt o 0.4 mm, #%11.43059 44
FEFLHEKEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F ERASEZ 4 ... 9 mm, Bk 52 UL94-V0 46
HEFLIESKEN175301-803-A (DIN 43650-A)/EE#AE, -40°C ... +125°C, S F B ERR 4 ... 9 mm, Bk 52 UL94-V0 56
$EFLHELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F FRAEEZ 4 ... 9.5 mm, A S 2 UL94-V2 9 58
Yi%a | AR 4 s 1+, Hl5t 2 - . -
((EaHIES 4 ... 20 mA FIEEF AL EN175301-803-A / DIN43650-A)
Yi%a | 4m R 1+, ?ﬁ%‘l:3 -, 4 §EH .
((atES 19 MeEBARAHEK 35, M12x1, 5 £1)
S EOMINTIZE EN175301-803-A (DIN43650-A), AFRZREIE (FA 85°C) L9
IEERANS BRI cp
ZraEn VM

) B EIE B

2 Al 1A

VXATFESEOLT (G1/4") 2 11 (G1/2")

180 bar 3 &Y, RAAVFESIEE 60 bar

S ANEATFESED 10,11,13,18,24

o BB KESIMI (RA K 50 K, 5 KA—E)

7 1P68, & 13m, 77 +10°C ... +35°C

9 YK E A 3 m AFESEE < 16 bar

9 REFEHTHE EN 45545-2

O TR ENTUE 50 MEH, AFBSEO05 35
WAYBFENED13.17.19

2 BAFESERE > 10 bar

13480 bar 3R, &RAAFESEE 160 bar

19 1RIBSAE J1926-3 (RE) inf, MZEERAH350bar. RN AT HN&IT, IFUETE2023 AT A SAE J1926-2 (BR) iR ERIRRAE
1) {RHESAE J1926-2(BR) R, MESTERAF630bar

#4} NBR
(#€7583)

(1£5361) (f£#563)
10 G1/4" B4
17 G1/4" §Mgy, Z23: DIN 3869 J Y v
15 GL/4" §MBLy, £2 £E5% FAJE @ 0.5 mm, ZE: DIN 3869 v v v
53 G1/4" ML (FEF15R) EN 837
11 G1/2" SMELL (%) EN 837
30 1/4" NPT 484
13 1/4"- 18 NPT 24
51 1/2" NPT §hg5
19 R1/4" JM24L, DIN3858

31 M14x1.5 SMES DIN EN 1SO 6149-2 v
18 7/16"-20UNF SM24L, DIN 3866
42 7/16"-20UNF JMEZY, SAE4 (J1926) v

24 7/16"-20UNF REB4Y, SAE J512 iR & =

H723191 Tk 3/6 sensors & controls



EPR 8283

RS WLES /HeEBE 4...20 mA: 24 (9...32) VDC
LFABTIE HAE 1 ms/10... 90 %AFFFEN
BBILR 100 ms
RERMERIF, SEERE @ 25°C,5 2R 4...20 mA: bis Us=32VDC
RN NEURE -40°C...+125°C
WRRE -40°C ... +125°C
PhipgER v IP65, IP67, IP68
RE 2K 95 % iEXHE
Rzh 15 g RMS (20...2000 Hz) £¥& EN 60068-2-64
25 g sin (80...2000 Hz), 1 Okt./min, (1x @ 25°C) ff&
EN 60068-2-6
gz 500 g/ 1 ms gem. EN 60068-2-27
EMCEHEE A a5t EN/IEC 61000-6-3
EN50121-3-2
M EN/IEC 61000-6-2
EN50121-3-22
WM EE fERES (N R) 1.4542 (AISI630)
ENEO (BRAR) 1.4542 (AISI630) 5% 1.4404 (AISI316L) ¥
4hes 1.4542 (AISI630) 3% 1.4404 (AISI316L) ¥
) FPM/EPDM/NBR
fasHEk SHIITHER
B8 980..110¢g
ZEME 25Nm

VB BREE
2 BREKRRIE, BRMAIRER
ABITHES B FEE

BE
MNEFFE 0.5 % MEFEE 0.3 %
TS 25 1TS 23
BIRET @-25...+85°C [% FS 81 8(E] 175 1.0
FBE @+25°C [% FS B8] +£0.5 +£03
NLH @ +25°C (BSL) [% FS Ba8U{E] 102 +0.2
TC SRRBEMERTE [% FS/K Ea8Y{E] +0.03 +0.01
1EKPRTE @ +25°C [% FS 818(E] 101 +0.1
NIEER ES NTEERES
MEZEFFE 0.5 % MEFRE 0.3 %
8
7
4 -
~] — — 3 —
o _— s e e e e =
R 2 S — E— S| T Tttt —T1T 1 [ | [ [1]
) P s st U Y O Y O . 0 o S B i 5 e —]
£l [ ] ] S Il =
= :g =" = = i 50 40 30 20 10 0 10 20 30 40 50 60 70 8 90 100 110 120 130
g o= S S - Temp.(°C)
% + max. — — typ. —— 3 TEB(-25...+85)
7
’ 50 40 30 20 0 0 10 20 30 40 50 60 70 8 90 100 110 120 130
Temp. (°C)
max. — — typ. —— [ TEB(-25...+85)

H723191 T8 4/6 sensors@controls



EPR 8283

o~ 1.4305 oI~ © \
SR 5 & R s 1.4301
S uIJ (SIS [ Sy (S
8283. XX.XXXX.05.XX.XX 8283.XX.XXXX.35.XX.XX 8283.XX.XXXX.02.XX.XX
36-38 with male thread | 355 cable length 15
48.5-50.5t\ﬁir1:af§ma\e 14 145 12 2 145
= g\ [ 1
125 |\ =
20 2 2|2
w|5  DIN3869 S|
Q=
8283.XX.XXXX.24/22/08.XX.XX 8283. XX XX10.XX.XX. XX 8283.XX.XXLT.XX.XX. XX
3 20 145 15.1 2 14.5 14 145
12 2 145 15 — 11
: )
- [ | < [ I | 0_0 e [ |
é[' : SEREE 77—% gt - ~ 2| 54
&} o =z — Q| —
int. dampin o 2 ) @V j
32 25 S 22 28 gz g 2 leols
35 sl b ©l& NS SlB Q3 5
INE=S QT Q= = [SEi=s [Si==

8283.XX.XX15.XX.XX. XX  8283.XX.XX53.XX.XX.XX 8283 XX.XX11.XX.XX.XX 8283. XX.XX30.XX.XX.XX  8283.XX.XX13.XX.XX.XX
14.5 14.5
13.5 6.5 145 10 145 135 145 9 | 23 M 2.3
' 0-Ring } '
0-Ring 11 0-Ring
— — 011.3x2.2 08.92x1.83 ; 08.92x1.83 —
| i _ i _ ]
3:;A075x3u A M5x7 M5x7
X
oL o
S Sl = |8 wly DIN6149-2 0295 SAE4(J1926) @295 029.5
< o3 T2 gls HEX27 B2 HEX27
Q= xlao wlxT

8283 XX.XX51.XX.XX.XX 8283.XX.XX19.XX.XX.XX 8283.XX.XX31.XX.XX.XX 8283.XX.XX42.XX.XX.XX 8283.XX.XX69.XX.XX.XX

55 27 5.5 27

L |

7/16"-20UNF SAE J512 5160 @Mm

EEIE NE
o\ i L == T
o~
@ i I |
15 S F ) 2 1)
8.6 - N
1)Tightening torque 50...60 Ncm 1)Tightening torque 50...60 Nem
8283 . XX.XX18.XX.XX.XX 8283.XX.XX24.XX.XX.XX 8283.XX.XXXX.XX.XX.33 8283.XX.XXXX.XX.XX.46/56 8283 . XX.XXXX.XX.XX.58

H723191 g 5/6 w sensors &) controls



EPR 8283

BSiEO
PhiPER B SERE
1P65*) **) IP6T *4) IP68 max.3m IP68 max.3m
(253 M12x1 MIL-C 26482 ERA*H)/Fx) EE */xkan)
EN175301-803A 5-4%
05 35 24/22 08
3 2
5
€0 23 == ==
3 4
! 1
L 92 G9
P -—I‘:}—@ Us (pos. Supply) 2 1 4 1 =f) AN ::)
om0 Us (neg. Supply) 1 2 1 3 L) -4}
| ,—-—(—'—(I I @ Earth (housing) @ ® 5 4 -y ]
=T shielg**
8283.xX.xxXx.Xx.19
* (U E IR IR E RENIRILIELE R
** B Ek FBREHES
*ex) (Y A T2 7= Rl RO IR VA TLIE L
*exk) KBTS IREE EN 45545-2
FEINEEARRIE BkBE
WREH 7z EN 60068-2-1 Ab: -40°C, 2 h (Xi&1T)
Ae:-40°C, 1 h (i&17H)
Fih EN 60068-2-2 Be: 85°C, 6 h (iG17H)
pirE K 328 EN 60068-2-30 Db: 55°C, B2 1.2 f&3F (2 x 24 h)
BESER EN 50125-1 AX (S 2000 m ASL)
SRER EN50125-1 BEERAR "I "FREEINERE
IREhANT & EN 61373 kah: £33 Y
T #5013 Y
i FE3RAE EN 50155 750 VDC
oot gl EN 50155 >100 MQ, 500 VDC
TATERE N RET EN 45545-2 E8:<10g
(AFEBSH#EO 05,35) RE:<0.2m?
EBiE FEBE EN 50155 24V
el EN 50155 ERISL
TEFFRERE IR EN 50155 $87ICL

U B2 AESKEN 175301-803-A, 251 2

X IR www.trafag.com/H72319
RIEN IS www.trafag.com/H73317
IMRF www.trafag.com/H70601

H723191 D15 6/6

sensors@ controls



